RANIGAN]J LIONS J.D.M.C. D.A.V PUBLIC SCHOOL, RANIGAN].W.B.
HOLIDAY HOMEWORK (2023 -24)

CLASS : VIII

ENGLISH

I. Complete the following sentences by adding the appropriate parts of the sentences given in the box.

1. Many wise men answered the king’s questions,
2. Someone suggested that there should be a council of wise men
3. Someone else suggested that the king should have a timetable
4. The king requested the hermit
5. The king washed and dressed the bearded man’s wound,

o but the bleeding would not stop.

o to answer three questions.

« but their answers were so varied that the king was not satisfied.

« and follow it strictly.

« to help the king act at the right time.

I1. Imagine yourself to be Granny. Write a diary entry expressing your ardent wish to climb trees and
your family’s disapproval of it.
I11. Correct the following sentences :
1. He has left for his native village yesterday.
2. | had completed the work.
3. He told me that he has solved all the sums.
4. 1 informed you about this before.
5. I know you for many years.
6. She had seen a lion in the circus.
7. He is pass in English and is fail in Mathematics.
8. If you help me, | give you a reward.
9. It is raining heavily since a week.
10. The patient died before the doctor arrived.

HINDI

1. RFfai@d T H gga g v gat & 3w iR -
HAJST BT FIH T2 0T &, ‘HcATAIRAT TUT HIH IS 0T &, “EdTaeieled Bl
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HCATIATH &1 ST Ph HAG Tl | TeATIHE TAT HcATAIAT 8 cHde
ferar & aa AsT A8 FEf Hr 3R UG dT &1 HcATTUNE, HcAdFA,
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BENGALI
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MATHEMATICS

1. The teachers organising the performance think that it will be difficult to arrange 625 student in one group.
They think of dividing the group into two square arrangements. How many student can be there in each
arrangement?
2. What is the difference between squares of any two consecutive numbers? Justify your answer using

algebraic identity.
3. Which of the following is the odd one?

A. 100+20+20+4 B. 400+40+40+4 C. 900+60+60+4  D. 1400+80+80+4

4. The cube of a number is divided by the number itself. The result is 36. What is the number?

1
="
5.V64 - ==
6. For which value of x is the equation true?
V8- Vx =4
A 4 B. -64 C.-216 D. 216
3 3
7. What is the value of M ?
V27
A. 2 B.3 C.4 D.9

8. Find the square root of (/320 x v/500)
9. Draw a colourful Mind Map of Squares and Square Roots Chapter in one — fourth chart paper.
10. Subject Enrichment Activity: verify (a + b)? = a® + b? + 2ab Geometrically in interleaf Practical pages.

SCIENCE
1. Which one is the example of contact force
a. Electrostatic b. Gravitational c. Frictional d. Magnetic.
2. Main constituent 0f CNG is
a. Methane b. Ethane c. Propane d. Butane

3. The structure that helps trees to withstand against storm is-
a. Cell membrane b. Cell wall c. Cytoplasm d.Nucleus

Consider the statements given below and choose the correct option.
a. Both assertion and reason are true and reason is the correct explanation of assertion.
b. Both assertion and reason are true but reason is not the correct explanation of assertion.
c. Assertion is true but reason is false.
d. Assertion is false but reason is true.
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. Assertion: Sharp knives are used to cut the vegetables.
Reason: Sharp edges exert more pressure.

Assertion: Fossil fuels are important source of energy.
Reason: Fossil fuels do not provide energy to different industries

Assertion: The smooth endoplasmic reticulum (SER) synthesizes lipid.
Reason: SER is associated with ribosomes that helps in lipid synthesis.

7. The good source of energy is that source which would do a large amount of work per unit volume or
mass, which may be easily accessible, may be easy to store and transport and be economical. There are two
types sources of energy they are conventional and non conventional sources of energy. Conventional sources
of energy includes fossil fuels like coal, petroleum etc. The fossil fuels are also called as non renewable
sources of energy. When fossil fuels burns then acidic oxides of carbon , nitrogen and sulphur are released in
the air and which causes acid rain. Because of acid rain the water and soil get affected. Again air pollution
causes which leads to green house effect. Thermal power plant, hydro power plant are used to produce
electricity. The thermal power plants are set up near coal or oil fields so that it can be used for producing
heat energy which in turn used to produce electricity. In case of hydro power plant kinetic energy of flowing
water or potential energy of water at a height is used for producing electricity. To avoid pollution now a days
we are using some improved technology which are used in conventional sources of energy. When wood is
burning in a limited supply of oxygen that time water and volatile substances present in it get removed and
the residue formed is charcoal. Charcoal burns without smoke and has higher efficiency of producing heat
also and hence there is no pollution. Bio gas is also used for producing heat because it burns without smoke
and no residue is formed after burning.

Wells
£ a. Name the petroleum product used for surfacing of roads.
. b. In the above figure, where petroleum and natural gas
Impervious, < Gas o XN deposits are shown. Why do we find oil layer above
T~ 5N R R water layer?
Ls” SIS N N . . .
7 L% NN c. While driving what are the tips we must follow to save
7 7 Reservoir S i petrol/ diesel/natural gas?
S AR 7 7 7 ~rock "\\\\\ ~ \\:\\ ¢
/’://Qk°\c 7/ ;;/ S8 > \\\\\\ A S
A Y s e d 3 \\\\\\ \\:\\
44;5/ 1/ /’\\ \x \\\\\ N\
8. Match the column
COLUMN A COLUMN B
a. Force i. m?
b. Pressure ii. Newton
c. Area iii. Atm
d. Atmospheric pressure iv. N/m?

9. Take atumbler and fill it with water. Cover the mouth of the tumbler with a thick card similar to that
of a postcard. Hold the tumbler with one hand while keeping the card pressed to its mouth with your other
hand. Turn the tumbler upside down while keeping the card pressed to its mouth. Make sure that the
tumbler is held vertical. Gently remove the hand pressing the card. What do you observe? Does the card
get detached allowing the water to spill? With a little practice you will find that the card continues to hold
water in the tumbler even after it is not supported by your hand. Also try this activity by using a piece of
cloth to hold
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10. Plants cells are different from animal cells in many ways. Observe the diagram given below and then
answer the questions

a. ldentify the organelles labelled from A-H.
b. Why does the nucleus lie in the periphery in the diagram ?

Chloroplast
Nucleolus

Peroxisome
Ribosome

Amyloplast

SOCIAL SCIENCE

A. TICK THE CORRECT OPTION:

1. Arevival of or renewed interest in something is called —
(@) Imperialism (c) Revolution
(b) Renaissance (d) Nationalism

2. Assertion (A): India is a sovereign country.

Reason (R): India is against exploitation in all forms and will try to establish economic and social
justice.

(a) Both Assertion (A) and Reason (R) are true, and R is the correct explanation of A.
(b) Both Assertion (A) and Reason (R) are true, but R is not the correct explanation of A.
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

3. Which message has been depicted by picture given below :

(a) Sovereignty (c) Democracy
(b) Socialism (d) Secularism

4. US Geological survey suggests that the Artic sea bed may hold as much as 25%of the
oil and natural gas reserves .

(a) World’s discovered (c) World’s Potential
(b) World’s undiscovered (d) World’s Actual

5. The following question consists of two statement- Assertion(A) and Reason (R) . Answer these
question selecting appropriate option below .
A — Inexhaustible resources can be termed as renewable resource .
R — Inexhaustible resource can be renewed either naturally or by human effort .
(a) Both A and R is true and R is the correct explanation of A.
(b) Both A and R is true but R is not the correct explanation of A.
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(c) Aistrue but R is false.
(d) Ais false but R is true.
B. ANSWER THE FOLLOWING QUESTIONS:

1. According to you, what was the real motive of the Britishers behind the passing of the Vernacular
Press Act in 1878?

2. ldentify the famous personality and write the popular
slogan given by him.

3. "The Indian Constitution has often been criticised as a "Bag of
Borrowings . Do you agree with the statement? Justify your answer.

4. Suppose you are a resident of West Bengal and your friend is a resident of
West Virginia. What are the differences between the citizenship policies
of both the countries.

5. “Rapid population growth has resulted in over utilisation of the natural resources”. Justify the
statement .

6. Draw a web chart showing various measures of resource conservation.
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NOTE : HOLIDAY HOMEWORK FOR ALL SUBJECT TO BE DONE IN YOUR SUBJECT

NOTEBOOKS PROVIDED BY THE SCHOOL.
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